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SPOT THE DIGITS 

 
 
 
 
Newton has made five numbers, using the digits 1, 2, 3 and 4.  

He has changed each digit into a letter (a, b, c or d) and has written three 

clues to help you work out what the values are. 

• Number 2) is the largest.  

• Number 3) is the smallest 

• Number 5)’s digits add up to 14.  

1. abbac 

2. cabdc  

3. bccba  

4. ddbab  

5. cdabc  

 

Which letter represents which digit? 

a =   b =   c =   d = 

 

Can you write your own puzzle like this one? 

? 
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SPOT THE DIGITS ANSWERS 

 
 
 

 
Newton has made five numbers, using the digits 1, 2, 3 and 4.  

He has changed each digit into a letter (a, b, c or d) and has written three 

clues to help you work out what the values are. 

• Number 2) is the largest.  

• Number 3) is the smallest 

• Number 5)’s digits add up to 14.  

1. abbac 

2. cabdc  

3. bccba  

4. ddbab  

5. cdabc  

 

Which letter represents which digit? 

a = 3  b = 1  c = 4  d =  2 
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